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- Assignment e——

Complete pgs. 261 - 262
Questions 1, 2, 6, 8, 9, 11a, 14ab
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Solutions -
Mu‘nl-ip‘ic Chc:fce
l. What points on the @raph of this

uadratic funchon r&present +he
1%cation of +he zeros of +he funchon?

X~ indercepts located

at ~x=!| and XxX=8.

(C'HOTCK, => C

2. What is one of +he factors of

%X:=3% =102
X2-3%x-10
= (x=5)(%x+2)

CHOTCE B
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. Determine +the roots of each
Ct.\o.dra-l—mc_ f:CLUQ‘hOﬁ
You can either factor Qr use
. %8s thudr(;.nc <ormula - B

a) O= %*-Hx +3 oR a=l,b=-1,c=3
o= (x-(x-3)
X=-b ¥ {b*>4ac
X—=1=0 or X-3=0 2.qa
X=| X=3 X= 4 T (G250
201)
X= 4% N1e-12,
3,
X=4E g
2
A= Hx 2,
2
X=4H+2 or

March 24, 2016

Solutions -—,ssssss———
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Solutions ———————————

b) Oﬁg,xz})—;’&—ES ) QR 0=2,b==7,c=-I3
O=X+3)X-1O -
2 2, w=-b*Edac
O=Q2x+3)(X-5) 2q
| __ X =71+ {ENZHQKIS)
V% +3=0 or Xx—5=0 TEA
Zx="3 X=95 X=1E N4yq+120
2 2
X=-3 X="1%£N169
] H-
X="T1X 13
l+
X="1xl30or X="1213
+ o
X= 20 = ~6.
H +
X=5 Me =8
2.
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Solutions ———————————

) x*—2%x +3=0

(x-‘r‘] (X - 3) O

(x—!)(x+3) O

—1=00or X+3=0
X=1 X="3

a=-1,b=-2,¢c=3
X=-bt{b*Hac

2a
X= 2ENEDHAHEE)

2.(-1)
X = 2._\15&2
X= 2% \__J__‘_co
=
X=2t4
=2
=2+4 or X=2-4H
-2, -2
X= &, A= =2
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Solutions ———————————

S. Use the cbuqdrq ¢ formula +c> determine
'H\c pooksYolt the squatkion X2+4%-T=0
L Xxpress your answers as exactrocts
N Simplest radical | Form.

X*+H%x-1=0 a=l,b=4,C=-7]
X=-biy b’" -Yac
xX=-2t \f(u) 4ET)

= —H I\ Ho+ 28
I —
= -4t ]44  {Wewillstop herefor mw}
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Solutions ————————————

QW 1*‘\Qu“‘60\\fm \,determine the nature
of the roots £&¢ each C&,\OGFCHHC equation.

a) X*4+10%+25=0 a=1,b=10,c=25
D=2

D= (o\2u<\(253
D= 100 -100O

D=0

-.KSerTD:C‘) “HL@"Q i's A real voot.
b) 2x*+X=5

X% %X-5=0 a=2,b=l,c=-5

D=b*4aq

D= (1)* 1—}(2}(—5)
D= 1+40
D=4

Sincde D>0, there are 2 real roots.

Ad) 2x*+6= 4%
2%%=4H4X+e=0 a=2,b=-4,C=06
=ph*4ac
D = (-4)*-42)6)
D= -8
D= -32

Since D« Q, There are no req! rootks.




precal11ch4PracticeTest.notebook March 24, 2016

Solutions =-—se————

1. A pepple IS tossed upward from a
Scenic looKout and falls +o the river
below. The approximate height, h,in
meters, of +he pebble abo e +the’river
+ seconds after being tossed s
modelled by +he func+ion

B(x) = ~5+2 + 10t + 35.

Q) After how many seconds does the
ebble hi+ +he river? \:%press \our
nswer to the nearest Tenth of a

Second .
52410 £ +35=0
t'-2t-7=0 . a=l,b=",c=-1

%x=-biVb*4ac
2.Q
x= 2+ [ gmET)

20)
A= 2EVH+28
o
A= 2EN
] i
23 -
x=3.8 x==L%
Kxtraneous Root

“The pepple hits The river after 3.58.
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Solutions ————————————

I4. “The parks department is planning.
a new Flower bed. TH willbe Y
rectanaular with dimensions Qmby em.
The flower bed will be Surrounded by
a_qrass Strip of _constant Wid+th with
e Same drea as the Flower bed.

| T H
6m %

Ko & o B
’“ o
e % @

|
x |

al Write a quadratic equation ‘k"o.mcdcl. |
__the _Sa”ruq%gon, o “CL” L

A= 20) o
206XD=CQ+2x)(G6+2x) =
108 = 54+ [[SXF 12X+ %2
108 = H4%2+30% +354
O = 45?2 +30X+ S4-10R
O= 4%x*+30x-84 a=4,b=30,c=-84

=-pt ‘I;-DafL‘.'QC

. a

X = =30 2\(EOHH)EEH)
2(4)

-30t {900+ 864

’)("_."
| %
X = ~30t T
Y
IX__.

2

B =

= = 30042,
<
= ROk 592.. o ’>(=".§O'é%%_
IR S

L X= =12

1S B
= 3 | %= =9

-3 \

Extraneous f{go-‘r

The. Sc.oas Strip will be 32 or 1.Sm wide.
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